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it 2.13 9. 36 0 11. 49
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fdthE - 24 - BROHEAM 0.13 | 0.13 0.26
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A WOBLEE 0.08 | 0.08 0.16
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A AR OELILRESEE 1 0.33 0.33
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VAR 747 RIS e 22 AR R 0.17 0.17
VAR 237 WS i1 N 0.17 0.17
A HERREEEE 1 1
A BBRDHER T E 4 4
A FEAROESEE T 0.17 0.17
A FRRODEAEE I — 1 4 4
A RGBSR E I —1 4 4
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A FEEH DRSS 0.29 | 0.29
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A FFRIEHEHMEE B 0.25 0.25
A BRI R EEREEE X — 1 4 4
A BRI HE EER e I —1 4 4
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A FERIERHERE - 20 0.25 | 0.25
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A FERI R B WATIE 0.14 0.14
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A FERI R E 0.25 1 1.25
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it 1 0 1
B#E |5 g PR L B 2 0.17 0.17
R LS I — 1 4
BER DS 2 —1 4
Kt I — TR OES 0.17
A FEES W ATEE TEROE 0.17
N EEIEERIR /uf?é;@ﬁﬁﬁi 0.17 0.17
A RO R 1 1
A %f“@ii%ﬁ%% 0.33 0. 33
A FRR OB 5 0.33 0.33
A E%F“/L\fi%ﬁnﬁi% 0.17 0.17
A FRAT Y TS 1
A FEIR DB S 0.17 0.17




A FEAROESEE T 0.17 0.17
A R OEAEE I — 1 4 4
AN R DEAEE I —1 4 4
it 1.68 | 17.34 ] 1.83 | 20.85
(NI - HEHEER)
/ ) [ AEECE
m 4| K %, 2 % f# HAA% ESTS
(AFMIRFPE¥ER B 2R d, ) i H| EH 3
EH
ol A A T H AR SRR A 1 1
H BT A AR s 3R akah 1 1
MR AL A 0.5 0.5
HARBEME I —1 4 4
HASPEME IS —11 4 4
EgEtr I — HE) 0.09 0. 09
A EESEONEY [t 0.1 0.1
VA=W N LS T 0N 1 1
A BARRHEE I F—1 4 4
A BASEE I F—1 4 4
it 3 16. 69 0 19. 69
o[ mE B OB B H AL B 1 1
H AT B S s 3R ikh 1 1
MR AR A 0.5 0.5
JES - RARE RS 1 1
HARBEME I F—1 4 0
HASPEME IS —11 4 4
Eigt I — He) 0.09 0
A EESE Y (1) 0.1 0
A BHAH R B 1 1
A BARRHEE I —1 4 4
A BABEE I F—1 4 4
it 3 17. 69 0 20. 69
oo K A FOE ANH#HEFEIF— FHBOER) 2 2
AR - HPRE s R BE LR 0.5 0.5
PESRHE R 0.17 | 0.17 0.34
VSRR SR 0.17 | 0.17 0.34
PSR RE L 0.17 | 0.17 0.34
AR« HERRE AR A 0.5 0.5
HARBEEMEIF—1 4 4
HAERBEHEMEI S —1 4 4
EgEtr I — HE) 0.09 0. 09
A EEGE Y (1) 0.1 0.1
A HEBEE FrR B 1 1
A MBS BB R 0.25 | 0.25 0.5
A HERHEEEMEEI T — 1 4 4
A FEEBEEFNIRE IS —1 4 4
it 2.76 | 18.95 0 21.71
IR B OEOE RBR 0.08 0.08
a3 2=k —3 g UEEA 1 1
a3 o=k —3 g VEFEAL 1 1
a3 2=k —3 g UEEAL 1 1
BEE LTS 0.17 0.17
AR RGERHE SR (R 0.5 0.5
HEERHABCAEI S — 4 4
WERAE RIS — 4 4
A BERERLECE R R 1 1
A BEFEHUE st 2 — 4 4
N JEREHE ISR S — 4 4
it 1.67 16 3.08 | 20.75
HoW K F K EiE (E5EET, ) 0.08 | 0.08 0.16
EFE (ELEETe, ) 0.08 | 0.08 0.16
[E|RE FE A 5T 0.17 0.17
ERER AT 0.17 0.17
EEEE ] 1 1
EEEE 1 1
EORELE L 0.5 0.5 1
HR B TERE) 0.2 0.2
EFEfM T I — 4 4
EHFER (BF) ZEIGHEIF— 4 4
Tt I — [EHE) 0.17 0.17
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A EES oY [EE 0.17 0.17
A EEEEEE 1 1
N EEEEEY 1 1
N BRNEER R TERE 0.2 0.2
it 2.4 12 0 14. 4
| E KN i AR - HER R SR E S 0.5 0.5
VSRR SR 0.17 | 0.17 0.34
VSR REE 0.17 | 0.17 0.34
VSRR SR 0.17 | 0.17 0.07
AR - PR b B s 0.5 0.5
HERHEHEMEIF—1 4 4
HARHEEMEI S —1 4 4
Kt I — THE) 0. 09 0. 09
N FEEEGm o EE e 0.1 0.1
A FEEBEE R A 1 1
A MR R ECE 0.25 | 0.25 0.5
A HEEBHEEENEE IS —1 4 4
A R EFEMEE I —1 4 4
it 2.76 | 16.95 0 19.71
% BT B #& 17 YT EAla=r—vay 1 1
s 0.33 0. 33
RN SN 1 1
2— T U7 PRI 1 1
HBRNERERR T2 1 1
R P EE  J— 1 4 4
EgEt I — HE) 0.09 0. 09
A EEG Y (1) 0.1 0.1
A SR SR R 1 1
A BRNEEREG () 1 1
A RS I — 1 4 4
it 5.33 9.19 0 14. 52
# = &k al + a3 a=kb—3TarEaEAl 1 1
O a=f—3 g VEEAT 1 1
a3 2=k —3 g UEEC 1 1
SN EEMIEE 0.5 0.5
B I 0.17 0.17
TN SRR B A 1 1
INFERE LR R 1 1
TN SRR A 0.5 0.5
BRI G- m) 0.03 0.03
TN R R W 1 1
HA AR EE 0.5 0.5
INEAR R R X — 4 4
INER PR EIGHE X — 4 4
N BN HEFERINISEE 0.5 0.5
A INFERE R GERE R 1 1
VANWANE 22 o 2 X TR SRR 1 1
N BRVNERER R [EE 0.33 0.33
A TN RGERCE R EE < T — 4 4
A INFERIGERE ISR L — 4 4
N BN RS E 0.5 0.5
it 5.5 17.03 4.5 27.03
ARG S ANEHE R I F— (FHBROER) 2 2
a3 2=k —3T g EEAI 1 1
a3 o=k —3 g UEFEBI 1 1
aIa=k—3 g VWEEBI 1 1
BEE LTS 0.17 0.17
INFERE SRR AR 1 1
TN SRR B A 1 1
IR P RE R R 0.5 0.5
B EREE 0.5 0.5
BB NERERR [HFE 0.33 0.33
INEAR R R X — 4 4
INER PR EIGHE X — 4 4
A N GEECE i 1 1
A INEREFEa S 2= — g UEY 1 1
A TN RGERCE R e < T — 4 4
A INFERBGERE IS L — 4 4
it 4.5 19 3 26.5
SR T N VG D R OFE 0.02 0.04 | 0.06
H K ER A A 1 1
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PR SR 1 1
MR AL B 0.5 0.5
ER/SiiEEES 1 1
P AL S 1 1
HWHEZH Y I — 1 4 4
WHZHEM Y I —1 4 4
Kt I — ) 0. 09 0. 09
N EEEGm o EE e 0.1 0.1
A H AR R R 1 1
A HUEHF TSR BR 1 1
A HBEREEE X — 1 4 4
A BT X —10 4 4
g 3.02 | 16.69 | 3.04 | 22.75
OB E H OFEBS EFE (EEE2ET, ) 0.08 | 0.08 0.16
E (E5xate, ) 0.08 | 0.08 0.16
BT ST 0.17 0.17
[ERER A5 0.17 0.17
P ERERHRE R 0.25 | 0.25 0.5
YEEFERHE SR 0.25 | 0.25 0.5
PEEERERHMEE L GREER) 1 1
HRNEAER TERE 0.2 0.2
EFELEMEE I — 4 4
EFEREEISAE I — 4 4
Egvr I — [EFE 0.17 0.17
A EES oY [EE 0.17 0.17
A EFERZE Frm B 1 1
N EFERIEEHEE B 1 1
N BRVNEER R TERE 0.2 0.2
A EFERIEE LR X — 4 4
A FEFEREEISHAMEE LT — 4 4
it 3.4 18 0 21.4
WHEE | N B WMoz HAFEZE L 1 1
B 1 1
TR SRR 1 1
iR TFIERm 0.33 0.33
EARFEEEME I — 1 4 4
EARF RN I —10 4 4
EgEtr I — HE) 0.09 0. 09
A EESEONTEYE [t 0.1 0.1
A WOBLEEH 0.08 | 0.08 0.16
N B RS 1 1
N EREMEE I — 1 4 4
A EREFEEE I 1 4 4
it 4.41 | 16.27 0 20. 68
WeHz | H AR Kk IR ANEHE Y I — (EWOER) 2 2
FH - AR 0.17 0.17
EFE (E5EZ2ET, ) 0.08 | 0.08 0.16
BRI 0.17 0.17
AR AT SE 0.17 0.17
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[ FE ot A 1 1
HRNERERR [ERE 0.2 0.2
EFEfM T I — 4 4
Egvr I — [EFE 0.17 0.17
A EES oY [EE 0.17 0.17
A [EFEFFR R B 1 1
AN [EFEFHRE B 1 1
N BRNEER R TERE 0.2 0.2
AN [EHFEFEEEE I — 4 4
A [FEREFIS A X — 4 4
it 2.99 | 16.42 0 19. 41
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VSRR SR 0.17 | 0.17 0.34
Vs RH gL 0.17 | 0.17 0.34
VSRR SR 0.17 | 0.17 0.34
HORERERE GNP |/ 0.03 0.03
HER - ARBHEEE 1 1
HARBEEMEIF—1 4 4
HAERBEHEMEI S —1 4 4
EgEt I — e 0.09 0. 09
A EEG Y [ 0.1 0.1
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o e i B R R 0.05 0.05
HT VA AR 0. 05 0. 05
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